
[image: image1.jpg]1U. In starfish, pink body color () 1s donunant to orange (p), and tmck eyebrows (1) are |
dominant over thin (t) ones. Patrick, who is heterozygous for body color but purebred for thick
eyebrows, has met Patti, who is recessive for both traits.

‘What is Patti’s phenotype?

Is it possible for the new couple to have offspring that resemble their mother? Explain.

11. Before Patrick commits to this relationship, he would like to guarantee that his offspring would have
his thick eyebrows. (He thinks they make him smarter!) You need to provide evidence for or against the
marriage. This question regards eyebrows ONLY.

12. While Squidward’s family boasts about being a purebred line for dominant Squidward Traits:
light blue skin color, they are also purebred for a less distinguished trait: the Skin Color g
recessive trait of baldness. Lack of hair causes Squidward some self-esteem Blue =B, Green=b
issues that he does not want his children to face. He would like to ensure that his Hair

offspring have hair AND with his blue skin color. What traits should he look for Hair=H.Bald=h

in a bride?

Must she have hair? Explain.

Must she be blue? Explain.

13. Squidward has found a potential bride prospect with the green squid Octavia. While Octavia has hair,
her father does not. Determine the chances of their child being blue and having hair.

Squidward = Octavia =

14. Use the genotypes in #13 to complete the Punnett square below and then answer the questions.

1

For which traits, if any, is it possible for their offspring to be purebred?

‘What is the probability of their children being heterozygous for both traits?




[image: image2.jpg]Sandy Cheeks is a squirrel from Texas. She is a good friend of SpongeBob's and
Patrick's. She wears a bikini top and a diver's air-bubble helmet because everyone knov
squirrels can't breathe under water. Sandy being a purebred Texan has a beautiful texa
draw she attributes to her extra large vocal cords ( C ) which is evident in her greeting;
"Hold on there, little square dude.” Sandy Cheeks is a hybrid for bushy tail. She has
recently met a nice squirrel whose only falt is that he is not from Texas and thus has
small vocal cords ( ¢ ) and a non bushy tail ( b)

15. Use the genotypes to complete the Punnett square below and then answer the questions.

For which traits, if any, is it possible for their offspring to be purebred?

What is the probability of their children being heterozygous for both traits?.

‘What is the chance for their child to have large vocal cords and a bushv tail?




